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The Continent Antarctica has an average temperature of -51°C (-60° Fahrenheit).
It had no human inhabitant until the 1950s and the lack of human habitation is

myriad (many).

Grammar - — :

Chq lle n ge Antarctica covers an area of 13,829,430 square ‘

miles (this is bigger than the whole of Europe
and nearly double the size of Australia) and
98% is ice. However, it loses 250 billion pieces
. of ice each year, which is because of climate
Some e_xump_le = change. Even though all the ice is lost, there
are still 500 glaciers there (which produce 70%

: : of the World's fresh water). From the glaciers
L]
To begin with huge chunks of ice break of o form csbergs
(either a Growler, Bergy Bit, Small, Medium, Millions of years ago, the chmate
Large or Very Large). in Antarctica used to be a lot
* These wormer meseing Conte Tees
e o har.
* In addition to
Antarctica’s Weather
| Antarctica is one the coldest and windiest places
L]
As well as on Earth. In fact, it is 50 cold it means people can't
live there permanently because of temperatures
. like its coldest, which was -89.2°C. Although it is
L]
Most importantly very cod it cassed s a desertdue to such e
precipitation (rain). Like rain, it doesn’t snow much
. . . and when it does snow it doesn’t melt, which
* During this time means it bulds upto 1.5 frs .





